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1. Uwypuliplilp

YEnnpup b pdojuljut ywpwgqubkp
1622000  |9hunwdhtiuhb Ynduybpu Juphikp 30d; (T4 220y 3500 35000 10
1622000  |8tDwqn(ht 1g t< upquy  |206,5 8260 40
1661610  [Shtmuphghtt 25uqg 74 hup 28 1403 501
1661200  [ULuinnwpnin; 2000g [o24 hwun 30,2 2265 75
1661230  |8Edunphwpunl 1q o< upquily 328 13084 40

Udo puwgh| h0+4| wynwlwppy - 350
1630000  [2500q+62.5uq/ (24 208 72800

Udo puwghihb+4 wynwlwppYy g 350
1674000 |1250g+31.25uq/ 5L 148 51800
692710 |Udopuwighthli 2500q /Suy 24 I}hﬁ%b 1620 32400 28
1661520  |Ugbiinhpuwhghiwpepnt 100dg (o4 hwtn 66,6 53280 800
1622200 [y ndELwy 7500/0]-30) (24 upyuwy 180 18000 100
1675000 | Mwpuwgtunwing 5004q (674 hwtn 10 2000 200
662150 Nupuug inuadng o puwipuuly 120ug /560 e ooy _— 12000 20
1610000 [UdhUndhhh 2,4%-50] (24 unyuwy 40 8000 100
1630000 [Ugtiinh ghuunthl 2000q (074 hwwn 125 18750 150
1631100 | Juny kljutyghipng 10/ 1500 (74 upfuly  [2000 20000 10
1631100 [YGpwwwihy 400q (24 hwtn 20 10000 500
1622300 |4Ywihnnp 0,06 (24 hwtn 10 500 50

Yhuunthiugywhib ooy Epu 15
692500 |ooumuily150u] &< 2P 4950 29250

22

75000 | Tinpmibghith ogutpml 200uq AR 100, | 2R 1900 26400
1692110 |hpmugpndlii oowpualy 100uUg 14 22hY 1500 45000 30
1661000  |Ywwndwiunwnh ngbpnipd 304 74 winu 150 7500 50
1661200  |Ywndwfununh hwlnty (774 hwin 120 6000 50




1622000 _|hgnunpphnh Gpythunpwwn 200q (24 hwtn 50 10000 200
1631600 |"Yhgopuhl 0,251q (o4 hwtn 7 2100 300
Uunpnujhth unty$umnh | nuénuye 0,1%- undul 50
1622000 |10} (24 150 7500
1631100 | Ewhiikdphith hhnpnpinphn 0,18%-14) (24 upyuy 200 5000 25
1616000 |Ywuwunnwnphy 500q o4 hwtn 66 99000 1500
1693060 | Uhunpnglhgtiphl 0,50q (¢4 hwtn 8,9 1780 200
1691300 [ Npmuypuitmyny 400q (24 hwn 8 6000 750
Utinnwnpnin| (Uinmypnynh - 500
1675000  [unwpunpunh nbnwhuwun)500g (24 30 15000
Uujnnhughtt (unfjnyhughth piqhyunnh) - 935
1693050 [104q (24 34 31790
1693050 | uwyhphtmy wiljiint 50uUgnuy 74 hunn 60 18000 300
EGwiwwnhi/ hhnpnpnpehwaghn _— 2000
1692110 |100q/12,50q (624 68 136000
1616030  |Ywuwunnwphy  250q o4 hwtn 30 30000 1000 =
1631102 | Uh$tnhwh( 100qg (o4 hwin 20 4000 200
1622000 [Udopuwghihlt 2500q 74 hwtn 30 9000 300
1622730 [UwnGOnin  100dqg 4 hwin 8 3200 400
661200 |Utntlnin)  504q o< hwn g5 1300 =
1661240 | Lwunphnuih pinphn 0,9%-51] (674 upyuy 35,6 3560 100
1631100 [Udopuwghihlt 50004qg (24 hwtn 37 18500 500
Udo puwghi hG+Y wynwlwpepy _ 500
1622200 [500/1251q (24 198 99000
1692501 |Uuypoiwnundng 2uq hup 14 hwn 40 12000 300
1614200 |ULwnpnOhnwany 0,5 (24 hwin 50 250 5
1661600 [Phuwynnhy dndhy 10dq c{ hwn 60 6000 100
1613000  [UYyuinhdwgywd wénifu 2500 74 hwn 10 200 20
1631400 [UdhOnjwuwpnlbwppnt 5%- 2500 4 thwptp 1200 2400 2
1661200 |UuynpphGwpepnt 0,5 (24 hwtn 70 31500 450
1622000 |[Bhwdhb pinphn5%-14; (24 upyuy 30 90 3
1675000 | YhdpGUhhnpwihh 1%-10; G4 upquiy 30 300 10
1662100  |Lnpwunwinhb 10dg t< hwitn 20 400 20
1661200 | “Hapuwuibuinwgnl 40q/a1-14] G4 upyuy 120 2400 20
1631600 | MnptnGhgninb 0,005 (24 hwtn 12 1200 100
1631400 | Lwunphntth ghnuni dwwn 30%-50, o< upyuy 60 1200 20
1622000 [dnipnutihnh 1%-2,0 (024 upywy 30 600 20
1622000  |Hwghnith gntyntunn 10%-50] (24 upquiy 100 4500 45
1631400  |Ywyghnith pinphn 10%-54] (24 upduy 60 3600 60
Uwqukqhnud umquipuunnh 40
ntinpuihhnpunn, Gun hnod wingqupuunnh upquy
1621200 | htafhhhnpunn 100 (24 100 4000
1616020 | 8Lduy Epuhi 250q < hwtn 50 15000 300
616040 [<GwwphG 500004/4] 54 (24 upyuy 1500 3000 2
662140 [Uwhpun pdoywywil 96% < thuin 1500 18000 12
1674000 _[nhpuunitpugni 4ug/ 1 G< upquiy 120 12000 100
1631600 |Ywnytnhinth nhun 12.5 tg (24 hunn 38 57000 1500
1662180 |“Ywnytnhinih nhun 25 tg t4 hwtn 222 66600 300
Ugtuinhuw hghywepni+dwglbghntd 600
632100 |h/p 1500q o< g 15600
Ugtwnhpuw hghiwppni+dwgbtghnud - 2000
1631100 |h/p 750q (24 24 48000
1622320 |Phunwpnin; 54q G4 hwn 78 78000 1000
1631000 | M wuwnhdhihb 0,1%-14] 74 upyuy 60 600 10




1631000 | MEphGnnwnh; Siq (74 hwtn 150 15000 100
Bhanin h dwibww wsph Ywehy 0,5%- 2
unquy
1674000 [54) (24 1000 2000
1631600 [ Mipuwdbitnwgn ws ph Yuehy 100] (o4 upyuly 700 1400 2
1674000 |2nw6lh wkpopuhn 3% (o4 thup 150 1800 12
1622000 |dnipwghihth thnph 0,2 (24 hwtn 100 600 6
1692513 |3nnh ngbpnipd 5% (24 lhunp 250 750 3
692500 | MInyhnnb jnnhn 10% c thon  |2000 2000 1
1622150 |ujbphtnuyphy  10ug (24 hwtn 186 111600 600
1631400 [gbduy Epuhli opuipuily 250uq/5u) 100d; |6« 2ohy 1200 24000 20
1631400 |[Bnpwé onip 30004 (24 hwwn 1200 1200 1
tpljuiph hhnpopupn, opuipul 50ug /5y unyul 12
1642230 [100; (24 2800 33600
1610000  |[odbuypuqny 20uq (24 hunn 36 18000 500
1622200 |wghlymlhp 3% L wnnh (420 1680 4
k Sug/u il !
1651402 huny g hplapmy Stig L Eh?r?;;imh 2057 8228
651402 ng_h[l 1000q (24 hwwn 7 1400 200
1675000  [dnjwppnt 5dq (24 hwtn 8 400 50
1662100 | Uwidwgnihti pph Ywphy 0,1%-104] 74 upyuiy 200 400 2
1631400 |wyptnm ljinu; MR (74 hwwn 98 29400 300
1661600 | Puntly hhnpnnpuinhgnl wisph 0,5%- 164 hutn 950 1900 2
1622000 | Runty wntiinpwghyihh wsph 0,5%-  [c< hwtn 720 4320 6
1692710 [8hwpnd|npuwghl hhnpnpinphn,wsph|t< 22hY 730 1460 2
1662150 _|LhghGnwphih nhun 10dq (24 hwwn 39 3900 100
1662150 [ppmuhbpuhti oowpuil; 1004 (24 hwtn 900 18000 20
1661520 [hgopuhl 0,25 dg/dj-14; CL upywy 120 2400 20
1632130 |UwgObghnidh uny $winh (ndnuyp (24 upyuy 60 4500 75
1675000  [Utmwownnh unghpin 10% 3013 (24 22hYy 150 450 3
Lds ulpul wypupuqubkn (24
141115 |Pwipwl whnnmuhwinws 100uq 4 wnith 150 3000 12
1194200 |UYwphdhlwinnn t< hwn 7 7000 1000
1690000 |UnUngpwdhwih nnlnnn 504 (24 nnth 700 7000 10
1194200 |LG)ynwy wuwn (24 hwun 100 1000 10
1194200 |EUQ dwwwybl 50x50 (24 hwn 800 9600 12
1141400 anﬂng whunwhwOywé (24 hwuwn 50 1000 20
1194200  [ULGuhwyhy (74 hwtn 10 1000 100
1194200 |2bErwy-rtwnh(t /gnb Yw/ (24 hwwn 1500 1500 1
1194200 |Owjwnb puwyuwnt) (24 hwwn 5 5000 1000
1194200 [Snlndbunp - $wlblnnuynwny (24 hwun 5000 10000 2
1141310 [Ubpwpyhs wubnny 2.00; (24 hwun 10 1500 150
1141310 |Ubpwnpyhs wutnny 5.00; (24 hwun 12 1800 150
1141310 | Ubpwnyhs wubnny 10.04; (24 hwun 15 2250 150
1141310 |Ubpwnyhs wubnny 20.04; (24 hwun 15 3000 200
1194200 [2Epdwswih (24 hwun 400 1600 4
1141110 [Yppwyww wunnwhwljws 7x14 (24 hwun 200 20000 100
1141110 [Yphpwlywwy 7x14 (24 hwun 150 7500 50
1141118 |Qwg whakrnghy c< Nt 500 1000 2
1194200 [ Ulym -2kl winphiy PLUZ  [wnnuh 5500 66000 12
Lonwdikop pdrjwlwh yupwqukp b nknopw;p 1800000
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1221100 [lunhwlngh wwpwgwbp, uwwup POUL  [npwd 25000 25000 1
1831243 [Ldwgph thnzh POUL  [nntth 700 7000 10
1711900 |O8wn - &bnph PRUL  [hwin 350 7000 20
1832000  [Udw0 jwlwint henniy POUL  [hwwn 1000 4000 4
1831272 |QniLwyyw POUL  [hwin 200 1000 5
531210 |k jwiww POUL  [hwwnn 200 2000 10
1761000  [2nigwpwlh pninp PLUL  [hwwn 200 1000 5
1831240  |dwyby POUL  |hwwn 300 1500 5
1764000  [UGdLrnghy PCUL  [intth 300 1500 5
LChnwdkip mbwnbuwlwh uwh. hhghkaply 50000
1000000 |gpwubkiyuljuihl tympkp POUL  [npud 150000 1
1000000 |Zwdwljupgsuihi tynipkp PCUZ  |npud 100000 1
3.0OwnwjnipjntGbGbph
3.2 tubpgbunhy
1310000 |3.2.1 t| tGGpghw PCUZ  |npud 150000 1
1123000 |3.4. POwywl qug POUL  Inpwd 250000 1
3.5 ElGYuinpnbwihb unnpwagnnepjw
1132100 [hwydwuwnwgniwl swrwjnipintGbnp PRUL  [npwd 3000 1
1500000 3.9 Ynwnhqughw b puthnbititph
onwpdwl Swnuynipnil PLUZ  [npud 40000 1
1121000 |3.10 Adrjwwb swrwjnipnLGObn PCUZ  [npud 2000000 1
3.4 Ywwh Swerw)nipint GGG
1330000 | 3.4.1 <Grwfunu (nkquilwi, poowihh) PLUZ  |npud 92000 1
610000 [3.4.2 <wiwlwngswihl swn. PCUZ  |ppud 80000 1
LOanwublp swpwnipnibbkp 2575000
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